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#include <stdio. h>

int main(){

int num;
scanf("%d",&num); > TEURIRAER E
while(num!=0){ > EFMEEREI - xBAZRO

i1f(num%2==0)
printf("%sdZE&\n",num );

else —— BEFIEANTEREEREG I EMERZIPTER
printf("%sdZ3F&\n",num );

scanf("%d",&num);

}

return 0;
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#include<stdio.h>
int main()

{

int grade, /*AL4E"/
int total=0,counter=0; /*42 A £ X R YU EEE E*/
float average; /**F-19*/
scanf( “%d” ,&grade); /*@E’U/\ —ZERE"/
while(grade!=-1){/* & A5 —=2 45"/
total=total+grade; /*/IN42*/
counter=counter+1; /*5TElzs & 10*/
scanf( “%d” ,&grade); /*#I A N—ZF£E/
}
average=(float)total/counter; /*5T S Bl 4E 11 B @l 2180 */
printf( “%f\n” ,average); /*#E/ Rk 45"/
return O;



28— EHE=do...while

do{

Iwhile (&#0);
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S4B 2B (do...while) VS 5t 21 BB & (while)

IRE;
do{
RO 5
IRAFET;
Jwhile (FEzl);

a=1

int a = 0;
doq

a=a+ 1;
twhile(a>1);

printf("%d\n",a);

Hia1E ;

while (HEr=0){
RO 5
& ;

}

a=0
int a = 0;
while(a>1){
a=a+ 1;
}
printf("“%sd\n",a);



